Kuwait University Math 102 Date: April 11,2010
Dept. of Math and Comp Sci First Midterm Duration: 90 minutes

Answer all of the questions. Calculators, pagers and mobile telephones are
NOT allowed.

1. (4 pts) Let f(z) = T+ 20 % <
a) Show that f is one-to-one.
b) Find f~!(z) and the domain of f~1.

2. (3 pts) Find all z for which

loge(2 +1) = 1+ log, j( +2).

3. (3 pts) Show that sin(2tan™'z) = i mx2 for all z eR.

A a dy s
4. (3 pts) Find ¢ if

y= (3“l= ) (::_lia;)m, O0<z<l

(3+3 pts) Eva.luate each integral.
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6. (3+3 pts) Evaluate the limit, if it exists.
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